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Credit Based Sixth Semester B.Com. Examination, September 2022
-(2020-21 and Earlier Batches)
COMMERCE
Indian Corporate Law

Time : 3 Hours Max. Marks : 120

SECTION - A
SNIN - D
Answer any four questions : (4%x6=24)
QORR)TTT WY, BJ VT eVS0R
1. State the facts and judicial decision in the case of ‘Solomon and Solomon and
Company’.
ARUERERINT HTVT ARTRERT WIT FoTD T,3TT SeLFT 27} QEWOR.
2. Explain the meaning and importance of prospectus.
02300 T, T3 e WY T, 0, O, DFOR.
3. What is register of members ? What are its contents ?
ATF, T T30S FRT 0BT ? TR.T TS FYRIT EsNed ORI ?

4. Write a note on private limited company.
S09FN QOT:0E FOTAOIL 27 £330 ES LTOWD.

. Distinguish between a member and a shareholders of a company.
FOTAOD) AT,ANP 0B SeTOTTONSD BTOR RBBAANTI), P,

What is share certificate ? What are its contents ?
FeBd T3, D0TTE ? TT LTFNT CIRYEY) ?

SECTION -B
QTN - W
Answer any four questions : (4x12=48)
CIRF)TTTLR TR, T, J NN V0K :
7. What is meant by doctrine of indoor management ? Narrate the exceptions to

this doctrine.
e5030F SBYS 3@3 Q0TI 9 B3 33:55 @ﬁmdm&g RNBDDRD. "
P.T.O.
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8. Discuss the rules relating to allotment of shares.
3eT0 T0owF 0B QIT FITRTOWT VORTINY 27} WWFA.

9. Define a member. Who can be a member of a company ?
FOTIoD TS 399,83, 0O, VERD. FOTIOI AT, Tonerd 03T e@ETO ?

10. Explain the various methods by which the membership of a company is acquired.

FOTTIOL ﬁdﬁ‘hsé?dﬁ@t TEO30T G QTIDNTT), WWOAD.

11. List out the duties of the company directors.
FOWWAOD ATesTTS FIE[NY TS, TRRO.

12. What is buy-back of shares ? Explain various legal provision relating to
buy-back of shares.
JeTONT T-D0ED DOTTERD ? [TE FoLOHAT BT T2V VLOTRNTIY, S9A0.

SECTION - C
QN - 2

Answer any two questions : (2x24=48)

CIRR)TOLTR AT @'%ﬁ@ﬁ& VS0 :

13. Define joint stock company. Explain the features of joint stock company.
BRES WORZOT FODIOD zsaéajé WTOWD. BRT WORIIE FORNOI OT saric—.éaboL NWOR0.

14. What is memorandum of association ? Explain briefly its contents. Distinguish
between memorandum of association and articles of association.

FOBAOD FONGIT TeI0I0TTERD 7 SWT BWE WOBNTR), IPOR. FOVTI TLMP
QODTITP FWEINR AT WSAANTIY, A

15. Discuss the requisites of a company general body meetings.
30T JeTOTTT AYNY @wsﬁ @Oﬁﬁ%‘f?\igt DROAD.

16. Who is a member of a company ? Explain the rights and liabilities of members.
FOBROR ATH,SOWT C3eTd ? Nn RBR,T BB, TWBY DNDIAD] f)m*aigl WWORD.
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BCMCMC 362

Credit Based VI Semester B.Com. Degree Examination, September 2022

Time : 3 Hours

(2020-21 and Earlier Batches)
AUDITING

SECTION - A
RPN - D

Answer any four questions.
CRYTAL T, FIRr w3010,

1

What are the advantages of Auditing ?
ci%ﬁ waﬁmeﬁmmsﬂd BORBROSNTIR)R) ?

List out the contents of audit note book.
c%ﬁ DOBRPID wdweé @_—@écﬁc‘g’ e BTONTOD wozﬁr{es?aigt a‘%&aa

What is Internal Audit ? What are its advantages ?
“e30303 (“Jfr; TOBRPT’ NOWTERY ? TR0 LRIBROSNTIR)D) ?

Distinguish between Auditing and Accountancy.
5, DOBRGS BB &5, TRNY IBOVT [TF 9R.

What are Vouchers ? Explain with example.
D) OORNGOTTERD ? YVTIBTTBR03 WROR.

Write a note on General Electronic Data Processing Controls.
AORRT, T T 08 €908 ROR T BHR LS 30edS LTJES LTOWD.

SECTION - B
VAT N

Answer any four questions.
OIRR)TOTOR FOL, BN LVIORO.

7. Define auditing. Explain the limitations of auditing.

&5, HoBperson w33 DerD. g HoBREID SRIINIRD, DFOR.

Max. Marks : 120

(4x6=24)

(4x12=48)

P.T.O.
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8. i
Describe the Procedure for the vouching of cregit sales
gy |
S0 &5,00ny &5, 3 ¢80 VBT Q302
. :

1 a g .
0. What are the qualifications and disqualifications of company auditor ?
TOB &5, TO3RGIC BRI WY BIBEIN CINF) 9

11. What is meant by ‘CARO Report and Tax Audit Report’ ? Explain.
TR T80 TR o7 SR B H0TSeRd RN Wi} DT0R.

12. Explain in detail the method of verification and valuation of ‘Stock in trade’.
ROBO TR 33,3 5 Res0es R0 BRYJEF ODHE WTPIRI BTN ITO2.

SECTION-C
QN - 2

Answer any two questions. (2x24=48)

R TR BIReR GuZ0%0.
13. Explain the internal check system followed for the payment of wages in large

concern.
2,000 &é)ﬁa* ﬁoﬁaﬁ:e}n

(2]

BREO WLTRET ROWODITOS 50303 ST ae%ododgl QWO

Define Auditing. Discuss the primary and secondary objects of Audit.

14,
&8 TOBREFF00) 539,85, Ve@D. STWT T PT 38) FRTT YUTIEBNY 3030 AT

Explain the rights and duties of a company auditor under The Company’s Act

of 1956.
FoTR 5902083, 19563 TFT, FOT Q%& ROZRCFES ﬁﬁ%ﬁ%’o =08 é@’;—‘dgr{eﬁgﬁi N0,

18.

What is “Audit of Computers Accounts” ? What are the problems faced in the
audit of computerised accounts ? Explain.

éomguaﬁ)é eﬁ%ﬁ@@{ DOZRPS BRBIYTD Q0TI 9 %o@’pd@,a@e%é e?'uir'{eéa‘%
TOBRG BRBRTON HTORLIET T BSR N ? WeB0A.

16.
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BCMCMC 363

Credit Based VI Semester B.Com. Examination, September 2022
(2020 - 21 and Earlier Batches)
COMMERCE
Financial Management - |l

Time :
me : 3 Hours Max. Marks : 120

Instruction : Provide working notes wherever necessary.

SECTION -A
Answer any four questions.
1. Explain the different types of working capital. 6
2. What are the activities of the sponsor of a mutual fund ? 6
3. What are Bonus Shares ? Explain SEBI guidelines governing bonus issue of

shares (any five). 6

Bhushan Ltd.’s after tax cost of capital is :

Cost of debt 8%

Cost of equity shares 17%

Cost of preference shares 14%

lts capital structure is debt ¥ 3,00,000

Equity shares X 5,00,000

Preference shares ¥ 2,00,000

Calculate the weighted average cost of capital. 6

Sunrise Ltd., issued 12% preference shares of T 100 each, redeemable at par
after 6 years.

Calculate the cost of preference shares if the issue is made at

a) Par

b) At 8% discount.

Sagar Ltd., had an EPS 0f % 25, its rate of return was 15%, while cost of equity
was 14%. Using Gordon’s dividend model, calculate the market price of the

equity share of the company, if the retention ratio is :
a) 70%
b) 60%.

P.T0.
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SECTION - B

Answer any four questions.

7. Explain the merits and demerits of mutual funds.

12

8. Explain the factors which influence the size of working capital. 12
9. Pranam Ltd., provides you the following :

Average inventory .

Raw njater:als 9,00,000

V\{qu—m-progress 6.,50,000

Finished goods 12,00,000

Operational details per day

Raw materials consumed 60,000

Cost of production 1,30,000

Cost of goods sold 1,50,000

Credit sales 1,00,000

Credit purchases 80,000

Total debtors 25,00,000

Total creditors 16,00,000

You are required to estimate the working capital requirement. Assume :

365 days for a year. 12

10. Prepare a cash budget for 3 months from October to December 2022 :

Cash at bank on 01-10-2022 % 25,000

Monthly salaries and wages I 10,000

Interest payment in November 2022 X 5,000

September October November December

Cash sales 1,20,000 1,40,000 1,52,000 1,21,000

Credit sales 1,00,000 80,000 1,40,000 1,20,000

Purchases 1,60,000 1,70,000 2,40,000 1,80,000

Sundry expenses 18,000 20,000 22,000 21,000

Additional information :

1) Credit sales are collected 50% in the month of sale and 50% in the following

month.

2) Collection from credit sales are subject to 10% discount, if received in the

month of sale and 5% discount if received in the following month.

3) 10% of the purchases are in cash and the balance is paid in the next
month.

12
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11. PQR Ltd., provide the data ap
Determine the trend values Out sales ang invenlory for a period of 6
. of 6 years.

BCMCMC 363

g X
. Sales Inventory
2016 (in crores) (in crores)
o017 1,100 210
2018 1,700 280
2019 ;,goo o
2020 N 322 40
2021 o 400
,000 410 12
12. Describe the functions of treasury management. 12
SECTION-C
Answer any two questions.
13. Explain the factors which influence the dividend policy of a concern. 24

14. You are supplied with the following information :
Output of the year — 70,000 units
Raw materials in store — 3 months
Production process — 1 month
Finished goods in store — 2 months
Suppliers credit — 2 months
Accounts receivable credit — 4 months
Selling price per unit — X 50
Raw materials — 40% of selling price
Direct wages — 20% of selling price
Overheads — 20% of selling price
Wages are paid in the next month of accrual.
Cash at Bank is estimated t0 be Z 50,000

Provide safety margin at 10% | .
Estimate the working capital requirement.
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15. Consider the following data :
Particulars Firm A Firm B FirmC "
Return on Investment 18% 16% 14%
Cost of Equity 12% 16% 16%
EPS T10 Z10 10
hares of the firm,

16.

Using Walter's dividend model, calculate the market price ofs
if the pay-out ratio is

a) 0%
b) 25%
c) 50%
d) 75%. 24
Following information is given 1o you :

4

(in crores)

Equity share capital 400
12% Debentures 400
18% term loans 1,200

2,000

a) Determine the weighted average cost of capital of the firm, if it had been
paying dividend at a consistent rate of 20% P.A.

b) What difference will it make, if the current price of the ¥ 100 share isX 160 ?

c) Determine the effect of income tax on the cost of capital under both the
circumstances.

Assume tax rate at 40%.
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Credit Based VI Semester B.Com. Examination, September 2022

(2020-21 and Earlier Batches)

FINANCIAL ACCOUNTING - VI

Time : 3 Hours

Max. Marks : 120

Instruction : Show working notes wherever necessary.

SECTION - A

Answer any four questions.
1. Explain different methods of purchase consideration.

2. Write a note on “Rebate on bills discounted”.

(6x4=24)

3. The Zeenith Ltd. went into liquidation. lts assets realised X 3,50,000 excluding
amount realised by sale of securities held by the secured creditors. The

following was the position.

Share Capital :- 50,000 shares of ¥ 10 each -
Secured creditors [Securities realised ¥ 40,000] - -
Preferential creditors —
Unsecured creditors -
Debenture having a floating charges on all assets

of the company -
Liquidation Expenses -
Liquidator remuneration -
Prepare liquidator final statement of account.

<
5,00,000
35,000
6,000
1,40,000

2,50,000
5,000
7,500

4. From the following Balance Sheet of Raman Ltd., calculate current ratio, debt

equity ratio and proprietary ratio.
Balance Sheet

Liabilities 3 Assets

Share capital 2,00,000 Fixed assets

Reserves and surplus 1,00,000 Stock

Secured loan (long term) 3,00,000 Debtors

Creditors 1,00,000 Cash
7,00,000

R
4,00,000
1,00,000
1,00,000
1,00,000

7,00,000 P.T.O.
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BCMCMC 36 od from a great inancial difficulty. Its balance sheg
5. Uplift Ltd. has just recover
as on 31¢ March 2022 is as follows. Assets 3
k4
Liabilities 1dinas 4,00,000
Equity Share Capital 6,00,000 Building

qui ‘

% preference sharé 4.00,000 plant and Machinery  2,00,000
capital 1’50 000 Current assets 2,00,000
Creditors . profitand Loss A/c 3,50,000

11.50,000 11,50,000

rbuilding @ X 3,00,000, plantand machinery
ideration is to be satisfied b

0,000. Purchase consl ' g

k at icgquity shares of T 10 of Prosperous Ltd. in the ratig

Iders are to be settled in full by the allotment of the

btors realised X 1,50,000 and X 1,10,000 was paid

no other current asset except stock and

Prosperous Ltd. is formedtotake ove

at ¥ 1,40,000 and stoC
7% preference shares and
of 3 : 2 preference shareho
new preference shares. De -
to creditors in full settiement. There IS

debtors. |
Prepare realisation a/c and share holder a/c in the book of uplift Ltd. a/c.

6. The following is an extract from the trial balance of Punjab Bank Ltd. as on
31s March 2022.

.
|
Bills discounted 6,32,000 |
Rebate on bills discounted on 1/4/2021 11,080
Discount received 52,854
An analysis of the bills discounted is as follows :
A’:O";’(;‘; ) Duedate Rate of discount
) 13’0 5" June 2022 14% p.a
118,000 o
’ 12% Jun
1,41,000 25t . s
2,03,000 i, 14% pa.
6 JU|Y 2022 16% p.a
(o]
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SECTION - B

Answer any four of the following questions.

BCMCMC 364

(4x1 2=48)

7. What is ratio analysis ? What are its uses and limitations ?

8. Following is the balance sheet of M/s Weldone Ltd. as on 31-3-2022

Liabilities

Amount (%) Assets

Equity Share Capital 3,00,000 Land f=yio
8% preference share capital 4,00,000  Building 3 z(c)}ggg
Ss)r;.(:rai Cfl%ﬁserve 50,000 Plant and Machinery 3:00’000
0 it and Loss a/c 50,000  Furniture 40’ 000
12% Debentures 2,00,000 Debtors 2 00, 00
Trade Creditors 60,000 Stock 1’50, 000
Outstanding Expenses 15,000 Cash ,40' oo(c)J
Provision for tax 20,000  Prepaid expenses 10,000
Proposed dividend 30,000 Preliminary expenses 35’,000
11,25,000 11,25,000

You are required to calculate :
1) Current ratio.

2) Debt to equity ratio.

3) Capital gearing ratio.

4) Liquid ratio.
5) Proprietary ratio.

9. Sun Ltd. absorbed the business of Moon Ltd. as a going concern on 31 March 2022.
The assets and liabilities of Moon Ltd. on that date were as follows.

Liabilities Amount %)

Paid up capital

30,000 equity shares

of ¥ 10 each 3,00,000

1000 preference

shares of ¥ 100 each 1,00,000

Creditors 30,000
50,000

Bills payable

4,80,000

Assets Amount (%)
Goodwill 50,000
Land 2,00,000
Plant 1,00,000
Debtors 50,000
Stock 30,000
Bank 35,000
5,000

Preliminary EXp.

Profit and Loss a/C 10,000

4,80,000
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Terms agreed between two companies were as follows.
1) For every 10 equity shares of Moon Ltd., Sun Ltd issued 12 fully paid shares
of T 10 each and paid X 10 in cash.
2) The preference share holders of Moon Ltd. were paid at a premium of 5%
by the issue of 6% preference shares of Sun Ltd. at par.
3) All assets and liabilities were taken over except cash to the extent of
¥ 3.000 which was left for meeting realisation expenses.
4) Plant was revalued at ¥ 1,83,000 other assets and liabilities taken at
respective book values.

You are required to prepare realisation a/c and share holders a/c in the book
of Moon Ltd. and opening entries in the books of Sun Ltd.

10. The balance sheet of National Ltd. as at 315t March 2022 was as follows.

Liabilities 3 Assets %
Share Capital : Goodwill 15,000
2000 preference shares Freehold property 2,00,000
of ¥ 100 each 2,00,000 Plant 3,00,000
4000 equity shares of
¥ 100 each 4,00,000 Stock 50,000
9% Mortgage Debenture 1,00,000 Debtors 40,000
Bank overdraft 50,000 Profit and loss a/c 2,45,000
Creditors 1,00,000

8,50,000 8,50,000

The Company got the following scheme of reconstruction approved by the
court :
1) The preference shares to be reduced to X 75 per share.

2) The equity shares to be reduced by X 62.50 per share.
3) The debenture holders took over the stock and book debt in full satisfaction

of the amount due to them.
4) The freehold property to be depreciated by 50%.
5) The value of plant to be increased by X 50,000.
6) The goodwill and profit and loss a/c to be eliminated.

Give the journal entries and prepare the revised balance sheet.
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_ Vishal Ltd. went into liquidati
" final statement ofr;tgcg%ilt(ijs tion. Following was its position, prepare liquidators
ealised and 2% on the amg allow!ng‘for his remuneration at 2% on the amount
ount distributed to unsecured creditors other than

12

preferential creditors.

Preferential creditors
Unsecured creditors
Debentures

Assets realised
Liquidation expenses

3
10,000
31,000
10,000
39,650

1,000

The following are the figures extracted from the books of modern Bank Ltd.
as on 31-3-2022. Prepare profit and loss a/c in the prescribed form.

Interest and discount received

Interest paid on deposits
Commission exchange and brokerage

Rent received

Profit on sale of investment
Loss on sale of investment

Salaries and allowances

Directors fees and allowances

Rent and taxes paid
Printing and stationery
Postage and stamps
Other expehses

Audit fees

Depreciation on bank’s property
profit as on 1-4-2021

Balance of

Other Information :
1) Provide ¥ 7,500 for doubtfu

2) Provide % 30,000 for taxation.
3) Rebate on bills di
)

4

5) Provide statutory Reserve a

scounted on
Provide 10% dividend propose

| debts.

31-03 .
4 on paid up capital

0% of net profit.

<
6,25,000
3,25,000
1,20,000
20,000
10,000
2,500
1,80,000
15,000
12,000
6,000
2,500
2,000
1,500
7,500
1,20,000

2022  20,000.
of ¥ 5,00,000.
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Answer any two questions.

13. The Fibres Ltd. is absorbed by Fab

8-

A

SECTION -C

date its balance sheet was as under

Liabilities
Paid up capital :

Amount () Assets

2000 shares of 100 each 2,00,000

Debentures
Creditors
Reserve Fund
Profit and loss a/c

1,00,000

30,000
50,000
20,000

4,00,000

(24x2=48)

rics Ltd. as on 31* March 2022 on which

Amount (%)

Goodwill 50,000
Freehold property 1,50,000
Plant and Tools 83,000
Stock 35,000
Bills receivable 4,500
Debtors 27,500
Cash at bank 50,000

4,00,000

Fabrics Ltd. agreed to take over the assets [exclusive of cash and goodwill]
at 10% less than the book value, to pay ¥ 75,000 for goodwill and to take

over the debentures.

The purchase consideration was to be discharged by the allotment to the

Fibres Ltd. of 1,500 shares of ¥ 100 each at a premium of X 10 per share and

the balance in cash. The cost of liquidation of X 3,000.
Show the necessary accounts in the books of Fibres Lid. and entries in the

books of Fabrics Lid.

14. The balance sheet of Konark Ltd. as on 31t March 2022 is as follows.

Liabilities
Share Capital :
2500 6% preference

shares of ¥ 20 each

3,000 Eq.shares of ¥ 20
each

5% Debentures 10,000
Add : Interest 2,000
Creditors

4

50,000

60,000

12,000
8,000
1,30,000

Assets 3
Patents 24,000
Buildings 60,000
Cash 1,000
Debtors 12,000
Stock 18,000
Profit and loss a/c 15,000
1,30,000

@

)
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2) One equity share of ¥ 10
3) Three shares of ¥ 10 fully

4) Debenture holders 1o be paj
5) The creditors to receive 8

6) Patents and profit ang los
7) Arrears of preference dividend to be cle

8) Any balance available b
builcings. y the scheme to

Prepare necessary ledger a/c i
sheet of Kotak Ltd. 9er a/cin the book of Konark Ltd. Prepare balance

The following particulars relate to POSCO Ltd [ [

e AU . ., Which has gone into volunta
liquidation. You are required to prepare the liquidators gfinal statement g;
account allowmg_ for his remuneration @ 2% on all assets realised excluding
_call money received and @ 2% on the amount paid to unsecured creditors
including preferential creditors.

Share Capital issued :

10,000 Preference shares of ¥ 100 each fully paid.

50,000 Equity shares of ¥ 10 each fully paid up.

30,000 Equity shares of X 10 each, X 8 paid up.

Assets realised % 20,00,000 excluding the amount realised by sale of securities

held by partly secured creditors.

3
Preferential creditors 50,000
Unsecured creditors ' 18,00,000
Partly secured creditors (Assets realised R
% 3,20,000) ,90,
Debentures having floating charge on £ 00,000
all assets of the company :10’000

Expenses of liquidation

rtly pa
A call of ¥ 2 per share on the pa
except in case of oné share holder oW

id equity share was duly received
ning 1,000 shares.
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16. The following is the trial balance of Kaveri Bank Ltd. as on 31 March 2022
Subscribed Capital [50,000 Equity 2 ¥
shares of ¥ 10] 5,00,000
General Reserve 3,00,000
Loans and Advances 62,80,000
Bank Premises 3,55,000
Govt. Securities 18,20,000
Deposits 83,64,000
Cash on hand and with R.B.I. 6,10,000
Interest, discount etc. 2,00,000
Money at call 1,24,000
Salaries : 57,000
General Expenses 55,000
Rent, Rates etc. : 4,600
Directors Fees '3,600

Bills Discounted ' : 60,000
Profit and Loss a/c on 1/4/2021 25,000
Miscellaneous income : . 200
Interim dividend 20,000

93,89,200 93,89,200

The following further information is furnished :

1) Provide for bad and doubtful debts ¥ 2,000.

2) All the bills discounted will mature on an average on 12" June 2022 and
they are discounted at 10% p.a.

3) Value of government securities is ¥ 17,90,000 and it is to be reduced to this
figure.

4) Interest accrued on investment ¥ 12,200.

5) Make provision for Statutory Reserve at 20% of net profit.

Prepare profit and loss a/c and balance sheet of the bank in the prescribed

form.
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Credit Based VI Semester B.Com.
Examination, September 2022
(2020 —2021 and Earlier Batches)
COST AND MANAGEMENT ACCOUNTING -1V

Time :
3 Hours Max. Marks : 120

SECTION-A

Answer any four questions. (4x6=24)

1. What is cash flow statement 2 What are the uses of cash flow statement ?

2. Distinguish between marginal costing and absorption costing.

3. What do you understand by Budgetary control ? What are its objectives ?

4. From the following data Calculate BEP, P/V ratio and Margin of safety.

Total sales X 50,00,000
Variable costX 30_,00,000

Profit ¥ 10,00,000.

from the following.

5 Calculate funds from operations
actions ¥ 70,000.

Net Profit after considering the following trans

i) Preliminary exp written off X 5,000.

ii) Dividend received ¥ 2,500.

iii) Depreciation on Machinery ¥ 2,000.

iv) Office Salary ¥ 8,000.
P.T.0
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v) Interest on Bank Deposit received ¥ 2,000.

vi) Goodwill written off.
6. From the following information Find out :

a) Labour cost variance,
b) Labour rate variance,

c) Labour efficiency variance.
Standard Actual

Output 1,000 units 1200 units

Rate of payment 3.6/unit ‘Wages paid at ¥ .8,000

Time taken 50 hrs. 40 hrs.-

SECTION - B

Answer any four questions. (4x12=4

7. Explain the application of marginal costing techniques in decision making.
8. What is standard costing ? What are its advantages ?
9. Aradhya Ltd. made a Profit of ¥ 1,85,000 after considering the following :
Depreciation on Fixed Assets % 5,000
Loss on sale of Machinery X 4,000

Transfer to Reserve ¥ 10,000

Profit on sale of Building ¥ 10,000
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10.

Taxation provision ¥ 10,000

Amortisation of fictitious Asset X 2,000

The other details for the year as follows :

Particulars 31-03-2020
%
Debtors 18,000
Creditors 12,000
Bills Receivables 7,000
Bills Payables 3,000
Bank 1,000

BCMCMC 365

31-03-2021

4
17,000
9,000
4,000
4,000

1,500

Calculate the Operating cash profit and Cash flow from operation.

Prepare production budgets from the following' budgeted sales figures for 6

months.

Year 2022 Product X
Units

January 2,000

February 4,000

March 8,000

April 16,000

Product Y

Units

4,000

6,000

12,000

20,000
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May 24,000 28,000
June 28,000 32,000
July 34,000 38,000

I

12.

Finished Stock equal to 50% of sales of next month. Kept in s'toc.k at the end
of every month. There is no work in progress either at the beginning or at the

end of any month.
Calculate labour cost variance, labour rate variance and labour efficiency
variance for Department A and B.

Dept. A Dept. B
Actual Direct Wages 32,000 31,800
Standard hours for actual output produced 8,000 6,000
Standard rate/hr. 30 paise 35 paise
Actual hours worked 8,200 5,800

The Goutham Industries Ltd. specialise in the manufacture of small capacity
motors. The cost structure of a motor is as under.

Materials ¥ 50

Labour X 80

Fixed overhead of the company amounted to ¥ 2.40 lakhs per annum.
The sale price of the motor is ¥ 230 each.

a) Determine the number of motors that have to be produced and sold in a
year in order to break even.

b) How many motors have to be made and sold to make a profit of ¥ 1,00,000
per year ?

c) Itthe sales price is reduced by X 15 each, how many motors have to be sold
to break even ?

o4
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SECTION - C

Answer any two questions.

13. The following are 1
on 31 December 2020 and 2021.

2020 2021 Assets
£4 3
Share Capital 200,000 2,50,000 L&B
General Reserve 50,000 60,000 Machinery & Plant

Liabilities

P&LAC 30,500 30,600 Stock
Mortgage loan 70,000 - Debtors
Sundry Creditors 1,50,000 1,35,200 Cash
Provision for Bank
taxation 30,000 35,000 Goodwill

(NEL) 5,30,500 5,10,800

Additional Information :
During the year ended 31#March 2021 :

1) Dividend of Z 23,000 was paid.

2) Assets of another company was purchase

payable in Shares.
s were purchased :

nery % 25,000.

urchased for % 8,000.
f Machinery X 12,000.
g the year ¥ 33,000.

The following Asset
Stock T 20,000, Machi
3) Machinery was further p
4) Depreciation written off 0
5) Income Tax provided durin
6) Loss on salé of Machinery ¥ 200 was written off to @

You are required 10 Prepa

re the Cash flow statement.

BCMCMC 365

2020
X
2,00,000
1,50,000
1,00,000
80,000
500

5,30,500

eneral reserve.

(2x24=48)

he summarised Balance Sheet of Ruchi Company Ltd. as

2021
4

1,90,000
1,69,000
74,000
64,200
600
8,000
5,000
5,10,800

d fora consideration of X 50,000
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14. Chandra Ltd. furnishes the ollowing information of its cost and profit for
year 2020 and 2021.
Year Cost Sales
2020 ¥ 12,00,000 T 14,00,000
2021 % 15,00,000 ¥ 18,00,000

15.

Compute the following :
a) Profit volume ratio.

b) Fixed Cost.

c) Variable cost for 2020 and 2021.

d) Margin of safety for 2020 and 2021.

e) Most likely Profit when the sales are ¥ 20,00,000.

f) Break even sales.

g) Estimated sales when the desired Profit is ¥ 5,00,000.

The following information is taken from the books of a Raj Company Ltd.
Materials Std output for Actual output for
(1,000 kgs) (20,000 kgs)
Qty. Rate Amount Qty. Rate Amount
x Ed T
A
450 20 9,000 10,000 19 1,90,000
B 400
i 40 16,000 8,500 42 3,67,000
250 6
0 15,000 4,500 65 2,92,500
Loss 100
3,000

Calculate a| the material variances

¢

b
|
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16. Preparé funds flow statement and changes i _
| 2
following. 9 n working capital from the

Balance Sheets

Liabilities 31-12-2019 31-12-2020 Assets  31-12-2019 31-12-2020

N 3 3 3
Capital 2.00,000 4,00,000 Fixed Assets 4,00,000 6,00,000
P&LA/C 3,00,000 5,00,000 Debtors 14,000 18,000
Bank loan 1,00,000 80,000 Bills Receivable 6,000 4,000
Creditors 10,000 12,000 Cash Balance 1,904,000  3,76,000
0/S Expenses 4,000 6,000
6,14,000 9,98,000 6,14,000  9,98,000

Additional Information :

i) Depreciation on Fixed Asset amounted t0 T 20,000.

ii) Income Tax paid during the year T 90,000.
jii)y Dividend paid for the year 2019 ¥ 40,000.

= e
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Choice Based Credit System VI Semester B.Com.
Examination, September 2022
(2021 — 22 Batch Onwards)
GST AND CUSTOMS DUTY

T O A ((:

i o ,".'II
T MANC=

Time : 3 Hours Max. Marks : 120

Instruction : Provide working notes wherever necessary.

SECTION — A (6 marks each)

Answer any four of the following questions. (4x6=24)

1. State the taxes which are subsumed under GST.

_ Write a short note on GST Council in India.

2
3. Explain the types of GST.
4 e the following supplies into composite supply and mixed supply.

. Determin
a) Supply of mouse, laptop and keyboard.
b) Supply of mobile phone with charger.
c) Supply of toothpaste with brush.
d) Supply of furniture and mat.
e) Supply of Diwali gift box consisting of sweets, cakes a
f) Supply of coconut oil with cans.

otal amount of GST payable on a machine u

nd chocolates.

5. Determine the t sing the details
given below.

a) Selling price of the machine
¥ 1,50,000.
b) Design and development charges Z 10,000.

c) Warranty charges charged separately by the seller ¥ 5,000.
d) Cost of durable and returnable packing included in the sale

¢) Rate of GST @ 18%.
P.T.O.

(Inclusive of CGST @ 9% and SGST at 9%)

price ¥ 2,000.
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6. Bajaj Limited has its head office at Mysore and has 4 branches at Mumbai,
Tamil Nadu, Delhi and Gujarat. It seeks the services of We Care Security
Solutions based at Mysore for security for its H.O. and its branches We Care
Security Solutions raises a bill which include GST amounting ¥4,00,000 on the
H.O. the turnover of H.O. and branches during the quarter ending 31-12-2021

were as follows :

Mysore head office 20,00,000
Mumbai 11,20,000
Tamil Nadu 6,50,000
Delhi 10,80,000
Gujarat 7,00,000

Compute the distribution of input tax by the Mysore head office.

SECTION — B (12 marks each)

Answer any four of the following questions. (4%x12=48)

7. State the various objectives of GST.
8. Explain the persons liable for registration under GST.

9. M/s Shruthi is a registered dealer in Hassan. From the following particulars
find out taxable turnover and IGST payable under GST act.

a) Supplied goods to a dealer at Delhi rate of GST is 12% for ¥ 5,00,000.
b) Goods amounting to ¥ 2,00,000 were sold to a firm of Japan GST at 18%.
c) Sale of petroleum products to a registered dealer in Madhya Pradesh for

¥ 3,50,000.

d) Sale of cell phones worth ¥ 1,50,000 to a dealer in Mandya for ¥ 4,00,000
at 18% GST.

e) Rendered service worth ¥ 8,00,000 to a dealer in Jammu and Kashmir at
18% GST.

f) Goods purchased from registered dealer of Haryana for X 6,00,000 at 12%.
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n unregistered dealer of Assam for T 3,50,000 at 12%.

r ¥ 5,00,000 .
|d to the registered dealer of

g) Commodity sold to @
oods to a branch at Mandya fo

h) Transfer of g
are sO

i) Ayurvedic medicines worth ¥ 2.00,000

Andhra Pradesh at 5% GST.
aharashtra for X 4,50,000 at

j) Supply of branded cardamom to a dealer of M

5%.

k) Supply of tea powder for
RBI X 2 50,000 at 18%.

act with a supplier in Kerala to Deliver.
e following information

an unregistered dealer for ¥ 1,30,000 at 5%.

I) Services provided to

a contr
| accessories. From th

payable U/sS 150

A dealer in Karnataka entered

Machinery along with essentia
determine the Total Amount of GST

(Composite sgpply).
a) Machinery cost (Excluding taxes) ¥ 10,00,000.

b) Selling expenses Z 10,000.
ection charges X 6,000.

es charged separately X 50,000.

plied by buyer free of cost T 20,000.
s ¥ 80,000.

r % 25,000.

f the CGST Act, 2017

c) Pre-delivery insp
d) Installation charg
g) Cost of materials sup
f) Secondary packing charge
g) Design charges paid by the buye
h) Cost of insurance ¥ 10,000.

Other information :
a) Trade discount @ 10% on cost of machinery.
ost of machinery.

along with accessories
f the machinery. These

b) Cash discount @ 3% on ¢
at ¥ 20,000 which are

¢) The machine is supplied ‘
bought out accessories

necessary for the working 0
are charged for tax at the rate of 5%.

d) Rate of GST on machinery @ 18%.

e) Rate of profit @ 12% on cost of the goods.
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ported into India is X 8,00,00q,
%, |GST @ 28%, NatIOnal
@ 12.5%; anti dumpmg

pensation cess at 60,

cts im
cb @ 375
king duty

and com
ported is 100 kg.

11. Assessable value of the tobacco Pmd”

The rates of taxes on such product aré B

va
calamity contingent duty @ 1%, counter

%
duty at ¥ 10 per kg, safeguard duty at 15

antity im
Calculate total customs duty payable. QU

able dealer in Mangalore and furnished the following

— 22, Compute the agd
rom the following information

12. Mr. Varun is a casual tax
information for the year 2021

CGST Act, 2017 for the purpose of registration f o
aw.
and state whether he is eligible for composition levy under

gregate turnover under

a) Supphed goods to X company ¥ 5,00,000.
b) Supplied goods to unregistered dealer at Bangalore for X 2,50,000.

c) Sale of goods to Arun at Chamarajanagar X 4,00,000.
d) Purchased goods from Hyderabad for ¥ 10,00,000.
e) Goods supplied to job worker in Mangalore for ¥ 2,00,000.

f) Supplied goods from his branch at Mandya for ¥ 3,00,000.
g) Sold food and drinks for ¥ 1,00,000.

h) Supplied products which are exempt from tax ¥ 3.50 000
i)
J) Supplied goods to UK. for¥ 5 00,000

k) Supplied goods to unit of SEZ
pp' EZ locateq in Delhj
Ihi for ¥ 19 00,000

!

ly

Varun render a software services to g company at Mysore for % 2,50,000
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SECTION — C (24 marks each)

Answer any two of the following questions.

13. What is GST ? Explain the different benefits of GST.

14. From the following inform

BCMCMC 381

(2x24=48)

ation you are required to calculate value of taxable

supply and amount of GST payable by the dealer on his transaction (GST rate

@ 12%).

The sale price of ¥ 10,00,000 does not include the following.

Selling expenses

Servicing charges

Insurance cost

Publicity expenses

Installation and erection expenses
Pre delivery inspection charges |
Warranty expenses

Material imported (including BCD but excluding IGST)
Design and development charges
Freight charges
Incentives paid to sales personnel

Taxes, duties, cesses, fees charges

Royalty charges

Transportation charges
Selling price includes the following :

a) Cost of durable and returnable packing

b) Trade disco
c) Mark up @ 10% on cost of supply.

L4
10,000
4,000
8,000
12,000
20,000
7,000
15,000
25,000
15,000
40,000
10,000
50,000
9,000
20,000

70,000

unt (itis allowed before or at the time of supply) 50,000
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15. Ajantha Private Ltd. Bengalure furnished the following in 5
i i .
manufacturing goods. Compute the net GST payable by Ajantha

for the month of March 2021.

a) Details of purchases and other expenses :

1) Purchased from local market (Inclusive of GST @ 5%) % 2,10,000.

i t
2) Goods purchased from an unit of SEZ in Mangalore for ¥ 1,50,000 (Ne

of taxes and duties) @ 12% GST.

3) Raw materials which are specified U/S 9(3)
from an unregistered dealer in Manda for ¥ 30,00

applicable to such materials is 18%.

4) Materials purchased from SEZ in Bangalore (Including BCD and GST
@ 5%) ¥ 2,10,000.

5) Materials purchased within the State from a registered dealer who opted
for composition scheme under GST for ¥ 3,00,000, rate of GST to this
product is 12%.

6) Materials purchased from America including BCD and excluding GST
@ 28% for ¥ 70,000.

7) Freightage paid to Goods transport agency of ¥ 40,000 (GST @ 12%)
to brought raw materials.

of CGST Act, purchased
0 rate of GST

8) Manufacturing expenses is ¥ 1,20,000.
9) Profit to a manufacturer is ¥ 50,000.
b) Details of sales @ 18% GST out of the total finished goods.
1) 20% sold to an unit of SEZ in Mangalore.
2) 30% sold to an unregistered dealer of Rajasthan.

3) 20% sold to a dealer of Bangalore who opted for composition scheme
under GST and

4) The balance was sold to a registered dealer in Mysore.
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Commodity is importeq by A
16 ﬁn der the Customs Act, 1962?% L

2) cost of the imported Prody

BCMCMC 381

td fr()m Am ;
erica. Determine t e
m the following information :e nesciuty ety

: ct$ 30,0
0.

o) packing charges $ 3,00q.

d) cost of container $ 200.

g) Buying commission paid to g, agent in India ¥

f) Royalty charges paid by exporter $ 100 ARl

g) Freight charges from America to airport of Bangalore $ 5,000

"") Cost of II’ISUI‘EII?CG IS paid on product but no details are a\;ailat;le.

j) Transport COSt_ Incurred by supplier from his factory to airport in America $ 100.
j) Cost of technical know how incurred by supplier $ 1500

k) Date of bill of entry 10-01-2019 (Rate of basic cu
stoms duty @ 10%,
IGST @ 28%, exchange rate as ‘notified by CBEC % 60 pteyr $).

) Date of entry inward 15-04-2018 (Rate of basic custom duty @ 18%,
IGST @ 28%, exchange rate as notified by CBEC 50 per $).
m) Additional duty payable under Section 3(5) of Customs Tariff Act,
1975 @ 16%.

n) Social welfare surcharge is as applicable. |
overnment of India, safeguard duty has

0) As per notification issued by the G /
been imposed on these goods @ 30%.

p) Anti dumping duty has been imposed on't
America @ 40%.

q) Compensation cess ap

hese goods imported from

plicable @ 30%.

P
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Choice Based Credit System VI Semester B.Com.
Examination, September 2022
(2021-22 Batch Onwards)
CORPORATE ACCOUNTING -1

Time : 3 Hours Max. Marks : 120

Instruction : Show working notes wherever necessary.

SECTION — A
Answer any four questions. ' (6x4=24)
1. What is goodwill ? How does it arise in a firm ?

2. What is meant by ‘B list contributories’ ? What is the liability of contributories
in the list ?

3. From the following information, calculate the value of an equity share :

i) The subscribed share capital of a company consists of 10,000 14%
preference shares of ¥ 100 each and 2,00,000 equity shares of ¥ 10 each.

All the shares are fully paid up.
ii) The average annual profits of the company after providing for depreciation but
before taxation are % 25,00,000. It is considered necessary to transfer X 1,25,000
to General Reserve before declaring any dividend. Rate of taxation is 50%.
iii) The normal return expected by investors on equity shares from the type of
business carried on by the company is 20%.

4. Kaveri Ltd. agreed to acquire the business of Krishna Ltd. as on 31-3-2022.
The Balance Sheet of Kaveri Ltd. on that date is given below :

Liabilities Amt. ) Assets Amt. (%)
Share capital : Goodwill 1,00,000
30,000 preference shares Land and Buildings 6,40,000
of ¥ 10 each 3,00,000 Stock 1,68,000
30,000 equity shares of Debtors 36,000
Rs. 10 each 3,00,000 Bank 56,000
General Reserve 1,70,000
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6% Debentures 1,00,000
Creditors 20,000 10,00,000
10,00,000
' ollows. ,
Fuehasseonsideration iste be calculateg T::e:mium by issuing equity shareg

1) Equity shares are to be redeemed at 6
in Kaveri Ltd. issued for every five
2) Nine preference shares in Kaveri Ltd. af® tovta)ﬁt; of preference shares
preference shares held in Krishna Ltd. The faﬁese consideration.
of both the companies same. Calculate purcna

5. The Balance Sheet of Mamatha Ltd. as on March 31, 2022 was as follows ?
Liabilities ¥ Assets cishilne 5 000
Equity share capital 80,000 Plantand acn 80,000
Capital Reserve 16,000 Lanq and Buildings 32:000
8% Loan on Mortgage 64,000 Furniture 24,000
Creditors 32,000 Stock ,
Bank overdraft 8,000 Debtors 24,000
Taxation : Investments (short term) 8,000

Current 8,000 Cash in hand 24,000
Future 8,000
Profit and Loss A/c 24,000
2,40,000 2,40,000
From the above compute :
a) Current ratio b) Quick ratio c) Debt equity ratio.

6. How do you classify the investments as current and non-current investments ?
Give two examples each for current and non-current investments.

SECTION -B

Answer any four questions. (12x4=48)
7. Define Ratio Analysis. Analyse the role of ratios in financial decision making.

8. The East West Co. Ltd. sells its business to Vasuy Lt
on which date its balance sheet was as under F B Meireh 31, 2008

Liabilities ¥ Assets 3
Paid up share capital Goodwi

will 0
(2000 shares of T 100 each) 2,00,000 Property 1 ggggo
Debentures 1,00,000 Plant '83.000

Creditors 30,000  Stock 35,000
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10.

General Reserve 50,000 Bills Receivables 4,500
Profit and Loss A/c 20,000 Debtors 27,500
Bank 50,000

4,00,000 4,00,000

vasu Ltd. agreed to take over the assets (exclusive of goodwill and bank) at
10% less than the book values to pay T 75,000 for goodwill and to take over

debentures.
The purchase
West Co. Ltd., 1,500 shares of X 100 each ata pr

the balance in cash.
The cost of liquidation amounted to X 3,000.
Show Realisation Account, Shareholders Account, Vasu Ltd. Account and

Bank Account in the books of Vendor company.

consideration was to be discharged by the allotment to the East
emium of ¥ 10 per share and

Zee Ltd. went into voluntary liquidation on 1% July, 2021. The Balance Sheet

of the Co. as follows.
Liabilities T Assets z
Share capital "~ Plant 2,00,000
12,000 10% preference Stock 1,00,000
shares of ¥ 10 each 1,20,000 Debtors 1,50,000
20,000 ordinary shares of Cash ; 3,000
T 10 each 2 00,000 P and L Account 30,000
5% Debentures 60,000 :
Creditors 1,03,000

4,83,000 4,83,000

Preference dividend was in arrears for one year and payable on liquidation.
Plant and Stock realised ¥ 2,75,000, Debtors worth Z 25,000 were bad creditors
include T 5,000, preferential liquidation expenses amounted to ¥ 1,600,
Liquidators remuneration was agreed at 2% on amount realised except cash
and 2% on the amount distributed to the ordinary shareholders. Debenture

holders were paid on 31-12-2021.

Prepare Liquidators Final Account.
he value of goodwill according t0

From the following information, calculate t
i) Super profits basis
ii) Capitalisation method
jii) Annuity method after assuming
a) Average capital employed int
b) Net trading profits of the concer
¥ 90,700 and ¥ 1,12,500.

¥ 1in 8 years at 12% per annuity table as ¥ 4.9618:

he business I 6,00,000.
n for the past three years were. ¥1,07,600,
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11.

12,

e i

¢) Rate of interest expected from capital having regard to the risk involved

12%.

d) Fair remuneration to the proprietors for their services ¥ 12,000 per

annum.

e) Sundry assets of the business ¥ 7,54,762.

f) Current liabilities T 31 ,329.

On March 31, 2022, the balance sheet of a Limited Company was as follows :

Liabilities 3
Issued capital in ¥ 10 shares 4,00,000
Reserves 90,000
Profit and Loss A/c 20,000
5% Debentures 1,00,000
Current liabilities 1,30,000

7,40,000

Assets E4
Fixed assets 5,00,000
Current assets 2,00,000
Goodwill 40,000

7,40,000

On March 31, 2022, the fixed assets were independently valued at ¥ 3,50,000

and the goodwill at ¥ 50,000.
The net profit for the three years were -

2019-20 ¥ 51,600, 2020-21 % 52,000, 2021-22, ¥ 51,650 of which 20% was
placed to reserve, this portion being considered reasonable in the industry in
which the company is engaged and where the fair investment return may be

taken at 10%.

Compute the value of share by
a) the net assets method and
b) the yield methoad.

Prepare a Balance Sheet in Vertical form of Roshni Ltd. as on 31-3-2022.

Share capital

1,00,000 equity shares of ¥ 10
8000 preference shares of ¥ 100
Security premium

General Reserve

Secured loans

Unsecured loans

Fixed assets

Goodwill

AmountX) Amount (3)
10,00,000
8,00,000
8,00,000
32,00,000
18,00,000
3,10,000
50,00,000
2,60,000
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Investment

Closing stock

Sundry debtors

Cash and Bank

Loans and Advances
Creditors

Bills payable

Provision for taxation
Miscellaneous expenditure
Profit and Loss A/c (Loss)

Provide for

1) Depreciation on fixed assets ¥ 6,00,000.
2) Provision for doubtful debts T 40,000.

SECTION -
Answer any two questions.

BCMCMC 382
2,50,000
14,00,000
14,20,000
3,40,000
5,30,000
12,50,000
3,00,000
2,00,000
60,000
4,00,000
96,60,000 96,60,000
C
(2)(24:48)

13. Alpha Ltd. agreed to acquire the business of Beta Ltd. as on 31-12-2021. The
Balance Sheet of Beta Ltd. on that date was as follows :

Liabilities

4
Share capital

60,000 shares of ¥ 10 each
fully paid 6,00,000
General Reserve 1,00,000
Workmen’s compensation fund 70,000
6% Debentures 1,00,000
Creditors 20,000
Profit and Loss A/c 1,10,000
10,00,000

Assets T
Goodwill 1,00,000
Land and Buildings  6,00,000
Plant 40,000
Stock 1,68,000
Debtors 36,000
Cash 56,000

10,00,000

The consideration payable was agreed as.undef :
A cash payment of ¥ 2.50 for every share in Beta Ltd.
An issue of ¥ 90,000 fully paid shares X 10 each at a market value of T 15 per share.

Issue of such an amount of fully paid ?o,/"'
Debentures in Alpha Ltd. at 96% is sufficient
Beta Ltd. at a premium of 20%,

of Alpha Ltd., valued Land and Buildings at 31

Stock at ¥ 1,42,000 and debtors of the fac?
ion o

for doubtful debts. The cost of liquidati
Alpha Ltd.

Write the Ledger Accounts in the boo
in the books of Alpha Ltd.

to discharge the 6% debentures of

while computing the consideration the directors

1,80,000, Plant at ¥ 20,000,
value subject to a Reserve o]‘ 5%
Beta amounted to ¥ 5,000 paid by

ks of Beta Ltd. and draft Journal entries
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: isting of 1,500,
14. The authorised capital of Goodluck Co. Ltd. is T 3,00_,0080h:?289 of ?91 i ok
6% preference shares of T 100 each and 15000 equity

Amount Amount
4 R
Investments in shares 25,000 :
Purchases 2,65,545
Packing charges 9,000 -
Delivery charges 17,700 -
Stock on 1%t Jan. 2021 72,600 i
Wages 15,000 -
Salaries 9,000 -
Directors fees 2,000 -
Rates and taxes 7,750 -
Carriage 4,100 -
Dividend for 2020 6,000 -
Preference dividend for half year 30-6-2021 3,000
Machinery 12,500 : =
Discount on issue of debentures 1,000
Preliminary expenses 500
Bills receivable 20,750
Interest on bank loans 2,900
Debenture interest half year 30-6-2021 1,875
Debtors 25,050
Creditors - 43,925
Building 1,75,000 =
Furniture (cost ¥ 25,000) 17,500 %
Preference share capital _ - 1,00,000
Equity share capital b 1,00,000
5% mortgage debentures i 75,000
Dividend and interest & 22,420
SP;?:; and Loss Account = 14,250
Bank loan by hypothecation of stock and B/R 340,250
Technical know how at cost 75,000 75,000
Cash 2,075

7,70,845 7,708 4;
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you-ara required 1y prapaie Trading and Profit and Loss account for the year

ended 31-12-2021 and Balance Sh iy
following : eet on that date taking into account the

1) Closing stock valued at ¥ 71,250.
2) Wages include X 1,000 incurred for installation of machinery.

3) Purchases include goods worth ¥ 2 istri
. _ ,500 distributed freely am
4) Depreciate furniture at 10% on original cost. y ameng cusiomers.

3 Write? off half of the discount on issue of debentures.
6) Provide for the remaining half years preference dividend.

7) Tech.nical know how is to be written down over 15 years.
8) Provide for taxation ¥ 5,000.

From the follow.ing Balance Sheet of a Limi
a Limited Company as at March 31, 2022
compute the break up value of each equity share : ’ ’

X T
Share capital Land and Buildings 1,00,000
10000, equity shares of X 10 Plant and Machinery  1,50,000
each fully paid up 1,00,000 Furniture 50,000
10000, equity shares of X 10 Investments (Trading) 50,000
each, ¥ 8 paid up 80,000 Stock 80,000
15000, 6% preference shares of Sundry Debtors 1,00,000
Z 10 each fully paid up 1,50,000 Preliminary expenses 50,000
General Reserve 200,000 Underwriting commission 30,000
Profit and Loss A/c Bank 40,000
Balance on 1-4-21 8,000 Cash 8,000
Profit for the year 50,000 58,000
Creditors 50,000
Provision for taxation 20,000
6,58,000 6,58,000

The adjusted profits for the last four years were . 2018-19 ¥ 75,000, 2019-20

¥ 80,000, 2020-21 % 70,000 and 0021-22 % 50,000. »
[ ' 9 ill is to be vaiue
e capital employed is 10 %, Goodwill is 10 .
Nemalralim Cn Bees : Land and Buildings and Plant and Machinery

at 4 years purchase of profits. ;
are revalued atx 1,50,000 and ¥ 2,00,000 respectively.
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16. Following is the ' B i
Redraft tghem for t’hrgfgue:;gsl;c:;s a?wc;?;sligtaigdcgl?:ﬁg?: the following ratios :
i) Gross profit ratio
i) Net profit ratio
iii) Current ratio
iv) Liquidity ratio
v) Stock turnover ratio
vi) Debtors turnover ratio
Vii) Operating profit ratio
viii) Debt equity ratio.

Profit and Loss Account

¥ 4
To Opening stock of finished goods 1,00,000 By Sales : Cash 2,00,000
" Opening stock of raw materials 50,000 Credit 8,00,000
" Purchases of raw materials 3,00,000 ” Closing stock of raw
" Direct wages 2,00,000 materials 1,50,000
" Manufacturing expenses 1,00,000 ” Closing stock of
" Administrative expenses 50,000 finished goods 1,00,000
" Selling and distribution expenses 50,000 ” Profit on sale of shares 50,000
" Loss on sale of plant 25,000
" Interest on debentures 10,000
" Net profit 4,15,000
13,00,000 13,00,000
Balance Sheet
Liabilities X Assets 4
Equity share capital 1,00,000 Fixed assets 2,50,000
Preference share capital 1,00,000 Stock of raw materials 1,50,000
Reserves 1,00,000 Stock of finished goods 1,00,000
Debentures 2,00,000 Sundry debtors 1,00,000
Sundry creditors 1,00,000 Bank 50,000
Bills payable 50,000

6,50,000 6,50,000
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Choice Based é?édlfSystem VI Semester B.Com. Degree
Examination, September 2022
(2021 - 22 Batch Onwards)
COMMERCE
Financial Management - II

Time : 3 Hours Max. Marks : 120

SECTION - A

Answer any four questions. (4x6=24)

1. What are the effects of cash deficit ?
2. What is an operating cycle ? How is it calculated ?
3. What are the activities of the sponsor of a mutual fund ?

4. Skynet enterprises achieved an eamings per share of ¥ 30 for the year 2020 — 21.
Its cost of equity was 15% and the rate of return was 19%. The dividend
payout ratio was 30%. Calculate the market price of the share using Gordon’s
dividend model. What will be the market price if the payout ratio was increased

to 40% ?

5. Vishwas Ltd., furnishes the following data. Determine the trend values. The
year 2018 is considered as base period.

Year Sales (3) Debtors (%) Inventory (%)
2018 2,00,000 1,00,000 50,000
2019 2,50,000 1,25,000 62,500
2020 3,00,000 1,50,000 75,000
2021 4,00,000 1,90,000 1,00,000
P.T.O.
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in Scheme EVE Natthe
6. Wealth Plus mutual fund has the following assels &10.

closure of business on 31¢ March 2022. market price per share
Company Number of shares Z 20
ABC Ltd. 5,00,000 T30
XYZ Ltd. 2,00,000 % 50
TEC Ltd. 3,00,000 1 lakh. The Scheme

are S
The fotal number of units of Soho EV;V%F%%HOOO and other liabilities of

f
Evergreen has accrued expenses O Evergreen.
3 1,5%,000. Calculate the NAV per unit of the Schemé g

SECTION — B
4x12=
Answer any four questions. ( 48)

7. What are mutual funds ? Describe different types of mutual funds.
8. Explain the benefits of bonus shares to the company and shareholders.

9. From the following data pertaining to a company. Compute operating cycle.

Particulars ~ Amount for the Year
Stocks : ®)

Raw materials : 70,000
Work-in-progress 40,000
Finished goods 50,000
Purchase of raw materials 1,10,000

Cost of goods sold 4,00,000

Sales 4,50,000
Debtors 1,50,000
Creditors 70,000

ital
P vesed on Operating cycle. You can

assume 360 days in a year for the
PUrpose of ¢g i
Culation_
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10. Apply Modigliani Miller Model to determine the share prices of the following
companies after the declaration of dividend.

Company Face Value Price before Dividend per Cost of Equity

declaration of Share (%)
dividend

) ) )
A 10 81 5 8
B 10 123 8 12
C 10 425 15 "
D 10 75 6 7
E 10 135 10 o

11. The financial details of eight Pharma companies for the year 2020 — 21 are
given below along with expected growth rates. Calculate their cost of equity

shares.
Sl. No. Company Face Value Dividend Market Price Estimated
(9] (%) ®) Growth Rate (%)

1 A Co. Ltd. 10 20 34 4
2 B Co. Ltd. 2 85 Il 6
3 C Co. Ltd. 2 250 281 8
4 D Co. Ltd. 10 40 103 4]
5 E Co. Lid. 10 20 78 5
6 F Co. Ltd. 10 40 190 6
7 G Co. Ltd. 10 25 34 4
8 H Co. Ltd. 10 18 234 7
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Co. Ltd. as on
12. Following are the Balance Sheet of Popular Co. Ltd. and Famous

31-12-2021.
Assets

Land and Buildings

Plant and Machinery

Investment

Stock

Debtors

Cash at bank

Total

Liabilities

Equity Share Capital
12% Debentures

10% Pref. Share Capital
Reserves and Surplus
Dividend Provisions

Sundry Creditors

Bank O.D.
Total

Compare the financial position of the two com

Size Balance Sheet.

®)
80,000
3,00,000
1,00,000
1,50,000
1,00,000
70,000

8,00,000

2,00,000
1,00,000
2,00,000
1,00,000

50,000

1,50,000

8,00,000

Popular Co. Ltd.

Famous Co. Ltd

®)
1,20,000
6,25,000
2,00,000
2,00,000
1,20,000
1,35,000

14,00,000

3,00,000
2,00,000
2,50,000
1,20,000

70,000
4,10,000

50,000
14,00,000

panies with the help of Common
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SECTION — C

wer any two questions.
AR 4 (2x24=48)

13. Explain the factors affecting dividend policy of a company.

14. The proforma of a cost sheet of a company shows the following particulars

Elements of a cost Amount per unit
®)

Raw materials 140

Direct labour 60

Overheads 100

Profit 100

Selling price 400

The following particulars are available.
a) Raw materials are in stock on an average for 2 months.
b) Materials are in process for 1 month, Finished goods are in stock on an

average for 2 months.

c) Credit allowed by suppliers is 2 months and allowed to customers is 2 months.

d) Lag in payment of wages is 1 month.

.
e) Lag in payment of overhead expenses IS Emonth.

f) %th of the output is sold for cash.
g) Cashin hand is 60000. Assume 10% for contingencies.

gular production and sale

pare a statement showing
f1,00,000 units of production.

s cycle.

h) Thereis are |
) the working capital needed

You are required 0 prepa
to finance a level of activity O
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. th June, 2021 from the
15. Prepare a cash budget for the three months ending 30" Ju
information given below :

a) Month Sales Materials = Wages Overheads
®) ) ®) ®)
February  1,40,000 96,000 30,000 17,000
March 1,50,000 90,000 30,000 19,000
April 1,60,000 92,000 32,000 20,000
May 1,70,000  1,00,000 36,000 22,000
June 1,80,000 1,04,000 40,000 23,000

b) Sales — 10% sales are on cash, 50% of the credit sales are collected next
month and the balance in the following month.

~ ©) The creditors are allowing a credit period of 2 months.
1
d) Delay in payment of wages and overheads > month.

e) Cash and bank balance on 1¢t April 2021 is expected to be ¥ 20,000.

f) Other relevant informations are :

i) Plant and Machinery will be installed in February, 2021 at a cost
of ¥ 9,60,000. The monthly installment of ¥ 20,000 is payable from

April onwards.

i) Dividend at 5% on preference shares capital of ¥ 20,00,000 will be
paid on 1stJune.

iii) Advance to be received for sale of vehicles 3 90,000 in June.

iv) Dividends from investments amounting to ¥ 10,000 are expected to
be received in June.

V) Income Tax (advance) to be paid in June is < 20,000.
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. 16. A Ltd. has the following capital structure .
B
Equity Share Capital
(50,000 shares)
50,00,000
g% Preference Shares
(F.V. Rs. 100) 20,00,000
9% Debentures -
(F.V. Rs. 100) ,00,000
tal
T 90,00,000

arket pri ; :

The marke prlc?e of the company’s equity share is ¥ 30. It is expected that
thri company will pay a current dividend of X 5 per share, which will grow at
20% forever. The tax rate may be presumed at 50%. You are required to

compute the following :

a) A weighted average cost of capital based on existing capital structure.

e new weighted average cost of capital, if the company raises an
debentures. This would

additional X 10,00,000 debt by issuing 10%
result in increasing the expected dividend to ¥ 8 and leave the growth

unchanged but the price of the share will fall to ¥ 25 per share.

b) Th

e
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Choice Based Credit System VI Semester B.Com. Degree
Examination, September 2022
(2021 — 22 Batch Onwards)
COST AND MANAGEMENT ACCOUNTING - IV

Time : 3 Hours Max. Marks : 120

SECTION - A
Answer any four questions. (4x6=24)
1. Define Marginal Costing and explain its features.
2. Define Standard Costing and Standard Cost.
3. Write a note on Purchase Budget and Sales Budget.

4. Calculate cash from operating activities from the following :
315 March 2020 31°' March 2021

Profit and Loss A/c 60,000 65,000
Debtors 85,000 48,000
Bills Receivable 40,000 . 81,000

| 1,72,000 2,07,000

General Reserve

Wages outstanding 26,000 8,000
Salaries prepaid 8,000 10,000
70,000 60,000

Goodwill
From the following particulars, find out the selling price per unit if BEP is to be
brought down to 9000 units :

Variable cost per unit = Bs. 75

Fixed expenses = Rs. 2,75,000

Selling price per unit = Rs. 100
P.T.O.
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6. The standard cost card shows the following details relating to material needed
to produce 1 kg of groundnut oil :

Quantity of groundnut required — 3 kg
Price of groundnut — Rs. 2.50 per kg
Actual production data :

Production during month — 1,000 kg
Quantity of material used — 3,500 kg
Price of groundnut — Rs. 3 per kg

Calculate :

a) Material Cost Variance
b) Material Price Variance
c) Material Usage Variance.

SECTION - B

Answer any four of the following. (4x12=48)

7. Explain the various advantages and disadvantages of standard costing.

8. 100 grade A workers, 40 grade B workers and 60 grade C workers were to
work for 30 hours to get an engineering job completed. The standard hourly

wages were Rs. 60, Rs. 36 and Rs. 24 respectively.

The job was completed in 32 hours by 80 grade ‘A’ workers, 50 grade ‘B’
workers and 70 grade ‘C’ workers who were paid Rs. 65, Rs. 40 and Rs. 20

respectively as hourly wages.

Find out labour cost variance, labour rate variance, labour efficiency variance
and labour mix variance.

9. Prepare a cash flow statement on the basis of the information given in the
Balance sheets on Sanjana Ltd.

Liabilities 2020 (Rs.) 2021 (Rs.)
Share capital 2,00,000 2,50,000
12% debentures 1,00,000 80,000

General reserve ' 50,000 70,000
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10.

Creditors
Bills payable
QOutstanding expenses

Assets

Goodwill

Land and Building
Machinery
Debtors

Stock

Cash

In a factory producing two products, the limiting factor is the availability of

Material.

From the following particulars, decide the product you would recommend for

priority.

Material

Labour

Variable overheads
Fixed Expenses
Total cost

Selling price

Profit

40,000
20,000
25,000

4,35,000

2020 (Rs.)

10,000
2,00,000
1,00,000

40,000

70,000

15,000
4,35,000

Product X

BCMCMC 384

60,000
1,00,000
20,000
5,80,000
2021 (Rs.)
2,000
1,80,000
1,30,000
1,60,000
90,000
18,000
5,80,000

Product Y
Cost per unit (Rs.) Cost per unit (Rs.)
25 40
10 15
05 05
04 04
44 64
55 80
11 16

Each unit of Product X consumes 3 units and product Y consumes 5 units of

raw-material.
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i Budgeted expenses
11. For production of 10,000 units, the following aré the . |
Per Unit (Rs,)
60
Direct material 30
Direct labour 05
Variable factory overheads -
Fixed factory overhead (Rs. 1,50,000) .

Office expenses (Fixed for all levels Rs. 50,000)
15

Variable selling expenses
Prepare a budget for production of 6,000 and 8,000 units.

12. Explain the advantages and limitations of Marginal Costing.

SECTION - C

Answer any two of the following. (2x24=4y)

13. Following figures relate to a company manufacturing a varied range of product.

Year Sales (Rs.) Profit (Rs.)
2020 1,50,000 4,000
2021 - 1,90,000 11,500
Calculate :

a) P/V Ratio

b) Fixed cost

c) Profit for a sale of Rs, 1 20,000

d) Sales required to earn a profit of Rs. 20 ,000
e) Margin of safety in 2020 and 2021

f) Variable cost in 2020 and 2021

g) Break even sales.
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14. The following Balanceé gheet of Dr- Reddy Ltd.
2020 (Rs.) 2021 (Rs.)
Liabilities
3,00,000 4,00,000
Equity share capital
] 1,50,000 1,00,000
Redeemable pref. sharé capita
40,000 70,000
General reserve 45,500
Profit and Loss A/c 30,000 '000
Proposed dividend 42,000 20,
Creditors 55,000 83,000
Bills payable 20,000 16,000
Provision for taxation 40,000 50,000
6,77,000 8,17,000
Assets 2020 (Rs.) 2021 (Rs.)
Goodwill 1,15,000 90,000
Land and Building 2,00,000 1,70,000
Plant 80,000 2,00,000
Debtors 1,60,000 2,00,000
Stock 77,000 1,09,000
Bills receivable 20,000 30,000
Cash in hand 15,000 10,000
Cash at bank 10,000 8,000

6,77,000 8,17,000

It is also given that
a) Depreciation of Rs. 20,000 on land and building and Rs. 10,000 on plant
has been charged in 2021.

b) Interim dividend of Rs. 20,000 has been paid in 2021.
¢) Income Tax Rs. 35,000 has been paid during 2021.

Prepare cash flow statement for the year 2021.
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15. The standard mix to produce one unit of product is as follows :
Material A 60 units at Rs. 15 per unit = 900
Material B 80 units at Rs. 20 per unit = 1,600
Material C 100 units at Rs. 25 per unit = 2,500

240 units 5,000

During the month of July, 10 units were actually produced and consumption
was as follows :

Material A 640 units at Rs. 17.50 per unit = 11,200
Material B 950 units at Rs. 18.00 per unit = 17,100
Material C 870 units at Rs. 27.50 per unit = 23,925

2,460 units 52,225
Calculate all material variances.

16. Puneeth Ltd. Manufactures two products A and B. A forecast of the number of
units to be sold in the first seven months of a year is given.

Product A Product B

January 1,000 2.800

February 1,200 2 800

March 1,600 2.400

apr 2,000 2,000

May 2,400 T

June 2 400 T
July 2,000

1,800
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it is anticipated that :
a) There will be no work-in-progress at the end of any month.

b) Finished units equal to half the sales for the next month will be stock at the
end of each month (including December of the previous year)

Budgeted production and production costs for the year ending 31% December
are as follows :

Product A Product B
Production (Units) | 22,000 24.000
Direct Material cost per unit - 12.50 Rs. 15.00 Rs.
Direct wages per unit 4.50 Rs. 7.00 Rs.
Total factory overhead apportioned
66,000 96,000

to each product

period ending 30" June of the year a production

Prepare for the six months
d production cost budget for the year.

budget for each month and a summarise
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Choice Based Credit System VI Semester B.Com.
Examination, September 2022
(2021 — 22 Batch Onwards)
INDIAN CORPORATE LAW

Time : 3 Hours Max. Marks : 120

SECTION — A

QLN -

Answer any four questions : (4x6=24)

CIRBTTAR W, BN SVZOR0 :

1. Explain the meaning and importance of prospectus.
TOWOL TWE, B WFPF T0BY 3,30, BOVTY, DWOR.

2. Distinguish between a member and a shareholders of a company.
FOTWAOD AT AN 0 SeTOTTOND [TV WTHANTS), PR

3. Write a note on Private Limited Company.

393N VO FOTIOD wj’\ &Sa‘gdsé W3OWD.

State the facts and judicial decisions in the case of Solomon and Solomon and

Company.
Arednesda’ HTT ARttt @H08) O T, TOEOT SERF LI} DTOA.

5. Write a note on Proxy.
T T,8AP0T B0 woT) 83 £ WB0W0.

Write a note on “The Doctrine of Constructive Notice”.
“ dzim?g RIJOD :-ba?é 03 "3 B0 3TV éswwsé 2300,

P.T.O
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Answer any four questions :

SECTION - B
SNIMN ~ W
(4x12=48)

CRYHTTTB T, TFReR G300 :

£

8.

9.

10.

11.

12.

What is memorandum of association ? Briefly explain its clauses.
FOTAOL FONTOS W3 DOTITERD ? T ©ET 503N 3TTOE0 JeRd.

What is Buy-Back of shares ? Explain the provisions of the Companies Act
with regard to Buy-Back of shares.
3eBons TWOTODOED) 0T3eRd 9 BTG, WOWORATI FOBIOD FoOTNTIY, E9X.

Explain the various methods by which the membership of a company

acquired.
FORACD ﬁcﬁm}%ﬁag TREoIOZ NG a@swa& RDORD.

List out the duties of Company Directors.
BORR ABeFJBT DT TS, neS), Te3 TRE.

What is meant by Doctrine of Indoor Management ? Narrate the exceptions
to this rule.
30307 SEY3 32 Q0BT 7 B 32 e:aadmdﬁeé&gl ARIATHAEN

What is transmission of shares ? Distinguish between transfer and
transmission of shares.

BTV FORBS 0BT ? B BFRT T 3D :30353%6 Ralewn wﬁmﬁﬁdr{@s%
3920.

SECTION-C
IR = &

Answer any two questions : (2x24=48)
CIRTYTTITR DT TJNer LvZoR0 :

13.

Define joint stock company. Explain the features of joint stock company.

BRI WOBTY FoBI0D asagajg WTOWD. AR OB TOTIOD ©B eaney
D308, .o
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14. Explain the requisites of Company’s General Meetings.
30239 3eBOTOTT TNy SRR o3RIy, H[ORD.

15. Who is a member of a company ? Explain the rights and liabilities of
members.
FoBROD RTR,T0TT3 03T 7 uasF ATRS T, WY BEUWONYRY, LHFWOXD.

16. What is Corporate Veil ? Explain the circumstances under which it is lifted ?
B0TAOD WO D0TBERd 7 BRT RO HE), FoTBIO WL, BOBWBOIT 2
QWO
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Choice Based Credit System VI Semester B.Com. Degree
Examination, September 2022
(2021 — 22 Batch Onwards)
COMMERCE
Auditing

Time : 3 Hours Max. Marks : 120

SECTION — A/t - &

Answer any four questions. (4x6=24)

C3RR)TOTTR T, T, F NPT LSOO,

1. What are the limitations of auditing ?
STOBRFTOTIRT SR, IBNTORD) ?

2. Write a note on Government audit.
XEOFO cﬁﬁﬁt}zﬁmqﬁo& RlOEVRAG B0,

3. List out the contents of the audit notebook.
cfga‘bdfaecp‘m wagfa% @gswg e9BBEIONTOD woaiﬁeéw:& mﬁma.

4. What are vouchers ? Explain with examples.
THoHNPOTITERd ? LVTOHBTIS Ao DF[OX.

5. Write a note on ‘CARQO’ report.
‘B8R’ WOO Wi, ] oRAe{ovsla)

6. What are the four Ps of corporate governance ?
mozé)ﬁ SRYIT Tow), Prishd R 7

P.T.O.
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SECTION — B/amn -

Answer any four questions. (4x12=48)
QIR TTITR LY, B, Z 9T YVSORV.

7.

10.
11.

12.

Answer any two questions.

Distinguish between Continuous audit and Annual audit.
QT0ST SFTWOTRCT 0D TooTH SBHOBRTS SN B, TANITY, E920.

What is an audit program ? Explain its advantages and disadvantages.
SEHOTR TS0 F2OIF B, 0TTeRd ? 9T T, 0dpew w2 TRETRTEY HT[OD,

Define corporate governance. Explain the different factors influencing corporate

governance.
RD0RT TSI 539,83, LBOWO. OB STIITI 20 Ty 7053 WeTH 503RwD oSRTT) ?

Explain the computer assisted auditing techniques.
TOTR, E30° ATHoOIOE SpyerioNanesicple R ey zorj\ AWORD.

Explain the benefits of social audit.
TOTINIE SEHOZRETIOD IRy 7 DSORD. o

How are auditors of a company appointed under different circumstances ?
TOTY STHOZRCHTIR), VNG RoTPIF NI, Tert Feasds =5ozad 2

SECTION - C/aen - 2
(2x24=48)

CAPTTTR ST TFNROT Gv30D.

13.

14.

185.

16.

Define auditing and explain the various objects of auditing.
ﬁsﬁwomewm 29,83, Qe@O. 6‘:@:@@3@@50@ QNG md@ew’rﬂ@ﬁg{ QNWORD.

Explain the rights and duties of the company auditor under the Companies Act, 1956.
FOTQ 630330 , 1956 T &}, 590 50300 STTOTLGTS BIL B TIFTNFRY DWORD.

Describe a suitable system of internal check applicable to the payment of wages.
%R0 TBER FOLOFTLI BATTOT 00T ) 300T WEH oD Wi SOV
“Vouching is the essence of audit”. Explain. State the objectives of Vouching.

How would you vouch the cash book ?
"33, ReB0roy SETOTPEGIOD 0" B3 BeYFOI) WHORD. T3, (3¢80e9 eﬁﬁ;ﬁbﬁmqﬁéoﬁ)

emw;es SR, TN PRTISY, BeR BORITIB) WERIND ?




